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Note : Answer questions from both the sections as per

instructions.

Section–A

Answer any two questions from this section.

20 × 2 = 40

1. The input coefficient matrix of an economy is given as

follows :

0.0 0.3 0.3

0.3 0.1 0.1

0.2 0.4 0.0

 
 
 
  

[ 2 ][ 1 ]

If final demand is given by D = 

180

20

90

 
 
 
  

Find out the gross level of output.

2. Consider the following Cobb-Douglas production

function.

Q = ALK(1 –)

A and  are positive numbers.

Show that :

(i) The production function is homogeneous of

degree 1.

(ii) Elasticity of substitution is 1.

3. Define standard error of a statistic. Explain how is

useful for testing of hypothesis.

4. Explain the Baye’s theorem and its applications in

probability.

Section-B

Answer any five questions from this section.

12 × 5 = 60
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5. Distinguish between the characteristics of first order

and second order difference equations.

6. Solve the equation :

2 2

2

dy x y

dx xy




7. Estimate the regression equation y = a + bx from the

following data

X 1 2 3 4 5

Y 2 5 3 8 7

8. Explain the concepts of eigen value and eigen vector.

9. Solve the following Linear programming problem.

Maximise 10x
1
 + 10x

2

subject to 12x
1
 + 8x

2
  210

16x
1
 + 6x

2
  210

x
1
, x

2
  0

10. What is a normal distribution ? What are its

characteristics ?

11. Find the inverse of the following matrix ?

4 1 1

0 3 2

3 0 7

 
 
 
  

12. Write short notes on the following :

(a) p-value

(b) level of significance
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,e-,- (vFkZ'kkL=) (,e-bZ-lh-)

l=kar ijh{kk

twu] 2024

,e-bZ-lh-&003 : ifjek.kkRed izfof/k;k¡

le; : 3 ?k.Vs vf/kdre vad : 100

uksV % nksuksa Hkkxksa ls funsZ'kkuqlkj iz'u gy djsaA

Hkkx&d

bl Hkkx ls dksbZ nks iz'u gy djsaA 20×2=40

1. ,d vFkZO;oLFkk dk vknku xq.kkad vkO;wg bl izdkj gS %

0.0 0.3 0.3

0.3 0.1 0.1

0.2 0.4 0.0

 
 
 
  

;fn vfure ek¡x lfn'k gks D = 

180

20

90

 
 
 
  

 gks rks ldy mRikn

Lrj Kkr djsaA

2. fuEufyf[kr dkWc Mxyl mRikn Qyu ij fopkj djsaA

Q = ALK(1 –) tgk¡ A rFkk /kukRed la[;k,a gSaA

n'kkZb, fd %

(i) mRikn Qyu izFke dksfV dk le?kkr Qyu gSA

(ii) izfrLFkkiu dh yksp dk eku ,d bdkbZ gSA

3. ,d lkaf[;d dh ekud =qfV dh ifjHkk"kk djsaA ;g le>k,a

fd ;s fdlh vo/kkj.kk ds lR;kiu esa fdl izdkj mi;ksxh

gksrh gSA

4. cs;l izes; dh O;k[;k djsa vkSj laHkkO;rk esa mlds vuqiz;ksx

le>k,aA

Hkkx&[k

bl Hkkx ls dksbZ ik¡p iz'u gy djsaA 12×5=40

5. izFke dksfV vkSj f}rh; dksfV ds vUrj lehdj.kksa ds vfHky{k.kksa

esa Hksn Li"V djsaA

6. bl lehdj.k dks gy djsa %

2 2

2

dy x y

dx xy




7. fuEu vk¡dM+ksa ds vk/kkj ij izrhxeu lehdj.k y = a + bx

dk vkdyu djsaA
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         X         1      2      3         4    5

   Y         2       5       3        8    7

8. vkbtu eku rFkk vkbtu lfn'k dh ladYiukvksa dh O;k[;k

djsaA

9. fuEu jSf[kd izksxzkeu leL;k dks gy djsa %

vf/kdre djsa % 10x
1
 10x

2

lajks/kk/khu % 12x
1
 + 8x

2
 210

16x
1
 + 6x

2
  210

x
1
, x

2
 0

10. ,d izlkekU; vkcaVu D;k gksrk gS \ blds vfHky{k.k D;k
gksrs gSa \

11. bl vkO;wg dk foykse Kkr djsa %

4 1 1

0 3 2

3 0 7

 
 
 
  

12. bu ij y?kq fVIif.k;k¡ fy[ksa %

(d) p-eku

([k) egRo dk Lrj

***

[ 7]


